3 = :
IS e 2 Lo, S
g = ; p

= 8 .

= :

=3 R SRR b SRRy ° : :

o = oy P P
~ @] H

5]

1074

H
S
o

1072

S 12 2 C
IS E 8 1sb
24 1 4 r T
E N 41
0.8 £ 1
F I - g K
0.6F- T e (TR e LT
107 1 10 0? - 10° 107 1 10 0? - 10°
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_V0001_R000000001__Global_CMSSW_ckfPUS0__RECO
—e— DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO
— . DQM_V0001_R000000001__Global__CMSSW_LowptQnoclean_ RECO
= = 1=
= e C
5] o L
2 e C
—\? ~ =
O
> L..]--
> g
5 5

107}

T s L] : : g 1sf g beeeeenan e
c “SET e F T ; :
1;_' T :: i 1:—' + ""“""m%":, """"" " """""" """"""
0.5F- AL (L : :
10 10 1 10 2 10°
TPp, (PCA t]b beamllng'f)

=

o p/p.)

107}

Ratio
N

=
)]

iy

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

[y

o
I8

[N



	Contents
	Page 1


